S2 Check Up – Decimals and Test Revision

1. Write down the answer to each of the following:
(a) -4 - (-6) =

(b)
6+(-9) =

(c) 3 - 8 =

(d)5 x (- 4) =

(e) 
-48 ÷ (-6) =

2. Round the following to 2 decimal places:

(i) 32.627

(ii)  6.996

(iii)  100.053

3. Calculate the following (showing full workings without a calculator)

(a)
28.92 + 37.57

(b) 
10 - 8.605 

(c)
80 x 0.7

(d)
0.6 x 5000

(e) 
0.05 x 0.009

(f) 
1.4 ÷ 0.7

(g)  
4.5 ÷ 300

4. Round 

(a) 1720 to 1 significant figure

(b) 0.00143 to 2 significant figures

(c) 57 962 to 3 significant figures

(d) 0.049999 to 3 significant figures

5.  If Caitlin received a 15% pay rise (she currently earns £42,000 a year), how much does she now earn? Round your answer to 2 significant figures.
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6.  Draw your own cuboid and calculate
(a) The surface Area

(b) The Volume
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